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You can use a verb stem (the verb form that goes before % ¥ Y + =W T to describe your

hope or aspiration.

JE DR KIT. H# 'a:fi.f_h’C*’J‘ orﬂik ﬁEf-N\T*TO
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I ttwnt lo see a lem [lus weekend.

Vo= q:-r'“ ToiGatis
I want o gfo t() China someday.

verb stem + 7“'(,\?‘9" I want fo do . . .

As vou can see in the first example above, having 7=\» attached to a verb slightly affects

>

the composition of the sentence. A verb that takes the particle # can have either the

particle Z or #* when it is followed by 7=\>. Particles other than # remain the same.

The combination of a verb and 7-\» conjugates as an \-adjective. Here are examples of

negative and past tense 7=\ sentences.

%mAruavAw# ) A

I don’t want to see that person any more.

=g — AR b ol b, ToA— MITEE LI

[ went to a (lepan‘menf store, because 1 uwnted to buy a swealer.

If your wish is one you have entertained for some time, that is, if you “have wanted to,”
you can use 7=\ ?i.\,f: Wi T instead of 2T,

£ T sentences are not usually used to describe wishes held by others. Somehody else’s
wishes are usually reported in Japanese either as quotations, observations, or guesses. To
quote somebody, saying that she wants to do something, you can use & S Twvd B
with 7=v>.

T == Ad Bl e S e oG dal iy

AIar_v said she wanted to go to the f)a[hmo-m.



To describe your observation to the effect that somebody wants to do something, you
must use a special verb 7=2%> T\ 5 instead of 7 \>. If a verb takes the particle %, the
derived verb 7=#%- T\ 3 will retain the #, unlike 7\, with which we had a choice
between the particles #* and z.

2 ) —X AdFa—E ——iﬁ;’t%f_ﬁ’fb‘o et 35
(It seems) Mary wants lo drink coffee.

The verb ##%= T\ %, which comes from the dictionary form 7=%%%, indicates “I think
that she wants to, because of the way she is behaving.” We will have more to say about
this tvpe of sentence in Lesson 14.

[ want to . .. /Do vou want to . ..7? They want to . . .

. verb stem + 7=W\TY « verb stem + oS TULET
« 7~L\ conjugates as an L\-adjective - f=h'B conjugates as an u-verb

- horZE « & only
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A. Change the following phrases into ~7zL\ sentences.
Example: 25 25— —*‘?"\6
(txvy) > NN =R ‘éﬁv\f_\\’*j'
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B. Pair Work—Ask if your partner wants to do the things above. When you answer,
give reasons as in the example.

Example: A /M2 73— ?J'—ﬁf‘?{'\“f-\:\f*“fﬁ‘
B (X, ‘?—‘*\7‘-\\’(1‘0 B TwTnwI«ars,
VR B b FHAL s o s L.

C. Change the following phrases into ~7zL\ sentences in the past tense.

Example:
bt f)-\”@@‘i fﬁws
Cidan) = —ﬂ,\é)ﬂ% b t:*f’ﬁ)‘?é:—i’fﬁiiﬁf:ﬁ‘o Testatis
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Pair Work—Ask if your partner wanted to do the things above during their
childhood.

Pair Work—Ask your partner the following questions and report the answers as
in the example.

Example: A [ A SARFPENIWTT A,
B ! EHHRAANTT,
> ALUASAREFHRSEDEF o T0E L,
HASAEEHE RI T T,
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Additional Vocabulary———ﬁvi (Occupations)

X o5 (ER) writer S e skl W B8 journalist
FTWwE 2 A (BZ2T)  police officer Lwdi. (F4) housewife
Iuved 9 (BEEE) actor/actress Cxvr (&iF) actress
AL (REEE) nurse Lx94X3 L (L)  firefighter
NAZTL (FiE) lawyer

CEpIEALw (FFFREF)  baseball player
i) by B B 8 (k?}"ivﬁ) president of a country




